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The area of the triangle is 38.72 square meters. ! Cx3=)13%R
=y = 4
Got 1+? Do these problems to find out. | Yoo
|
|
a. | | L | b. o 9 units?
HEEP” \Wan = -
T 1 4 \\';3 qx7fé;3 2
| LA )l | 2
W vt b, 315 ft
| (o ‘

b.6 6cm
24 = # Replace A with 24 and e
h with 6. b p‘ - ) L L\
_

24(2) = bé—6(2) Multiply each side by 2.

48=5b.6 Simplify. A’) A'&% b \'\ 90 :.é b (%)

48 _b-6 fenat iR
e~ Divide each side by 6.

8=0>b Simplify. 72- :{ ﬁf[Q — q ‘3’

So, the base is 8 centimeters.

Got 1+7 Do these problems to find out.

c d. c.10m

A= 40 m? ="
!! A=72yd? h
E A_12yd

b 12yd




Guided|Practice i

Find the area of each triangle. (amples 1and2)

1. 6 units? 2, 48 ft? 3, 87.75m?
|
L 11.25m |
AN i L)
Ll 12t 156 m
Swow
yewr
L\f’i““.
4. Tayshan designs uniquely-shaped b
ceramic floor tiles. What is the base
of the tile shown? (bample ) A=21in?
7 in.

5. Consuela made a triangular paper
box as shown. What is the area of
the top of the box? (Fxample4)

45 cm?

6. @_} Building on the Essential Question How is the
formula for the area of a triangle related to the formula
for the area of a parallelogram?

Sample answer: A parallelogram can be decomposed

into two congruent triangles. So, the formula for the
area of a triangle, A = %bh, is one-half the area of a

parallelogram, A = bh.



IndependentiPractice

Find the area of each triangle. (Fmpies120d2)

1. 24 units? 5 198.4cm? ‘ﬁ 747 ft2
= \
| T C 24.8 cm
[

Find the missing dimension of each triangle described. nplie )

4. height: 14in. 5. base: 27 cm
area: 245 in? area: 256.5 cm?
35in. 19cm

6. Ansley is going to help his father shingle the roof of their house. What
is the area of the triangular portion of one end of the roof? (tample4)

14 yd?




o
ﬂﬁf-_s,s,- Multiple Representations The table shows the areas of r
- . Area of Triangles
a triangle where the base of the triangle stays the same but the
height changes. Base | Height | Ares
(units) | (units), x | (units®), y
a. Algebra Write an algebraic expression that can be used ‘ |
4 . . 5 2 5
to find the area of a g}‘angle that has a base of 5 units and -
et 5 4 10
a height of x units. 2 . " T
b. Graph Graph the ordered pairs (height, area). ; ] 2
y |
30 5 X ?
27
24
a0 21 | |
2 18 ® (8, 20)
215 i * (6, 15)
$ 1 | |
< ®(4,10)
6
3 ®(2,5)

0 1 234567809 10x
Height (units)

¢. Words Describe the graph.
The points appear to form a line.



8. What is the area of the triangle on the flag of the

-
Philippines in inches? Explain your reasoning. 540 in; Sample

answer: The base of the triangle is 3 feet or 36 inches. The
height is 30 inches. So, the area is %(36)(30) or

540 square inches.

@ H.O.T. Problems Higher Order Thinking |

9. f‘&s.‘:g/ Find the Error Dwayne is finding the base of the triangle shown.
Its area is 100 square meters. Find his mistake and correct it.

N
Izon\
I

n

The formulais %bh, not bh.

b«20
2

b=10m

100 = ()20
100 = 200
S=9v

100 =



10. fu‘:@s) Persevere with Problems How can you use triangles to find the
area of the hexagon shown? Draw a diagram to support your answer. <:> %
Sample answer: The hexagon is formed by six congruent triangles. If the
hexagon is divided into six triangles, find the area of one triangle and
multiply by 6.

11. @) Identify Repeated Reasoning Draw a triangle and label its base
and height. Draw another triangle that has the same base, but a height
twice that of the first triangle. Find the area of each triangle. Then write
a ratio that expresses the area of the first triangle to the area of the
second triangle. Sample answer:

8cm
4cmN

12¢cm 12cm

Area of first triangle is 24 cm?; Area of second triangle is 48 cm?;

7 1
1.21:n'2

12. ﬁ@) Reason Inductively The triangle shown has an area of

_5‘__

8 % square feet. What is the height, in inches? 39 in.




